Addition and Subtraction j

A. Choose the Correct Answer:

1.

A shop had 4500 chocolates. It received 2500 more and sold 3000. How many
chocolates are left?

a. 4000 b. 3900
c. 3800 d. 4000
. Rani had X6000. She earned 1500 more and then spent X2000. What is the
balance?
a. X5500 b. X6500
c. 5000 d. X4500

. A farmer collected 3000 mangoes in the morning and 2500 in the evening. He

sold 2000. How many remain?
a. 3500 b. 4000
c. 3000 d. 2500

. A train travelled 3450 km, and then travelled 2200 km more. Later it returned

2000 km. What is the current distance from the starting point?
a. 3650 km b. 3550 km
c. 3450 km d. 3750 km

. A student read 120 pages on Monday, 150 pages on Tuesday, and forgot to

read on Wednesday. Total pages read = ?
a. 250 b. 270
c. 280 d. 290

B. Fill in the blanks

1.
2.
3.
4.
5.

4500 +2300-1000=
_ —2450+1500 = 5550
78903000 + 1110=
6000 + 1000-2345=__
5000+ —3456 = 4555

C. Different Type Questions

1.

2.

A school received 5000 books. It distributed 2456 and later received 1200
more. How many books are there now?

Match the operations with the results:




—

a. 2000 + 1000 [1 3000
b. 5000 - 1234 [1 3766
c. 4321 + 1111 [] 5432

3. Circle the correct answer: A man earned 26000, spent X3456. His remaining
money is [1X2544 [ 32554 []132564 []32444

4. A bus travelled 3000 km in a week and returned 1500 km. How far is it from
the starting point?

5. Add and subtract: 1000 + 2000 — 1500 =

D. Mark each sentence with a True (¢/) or False ( X ):
We can use both addition and subtraction in a single word problem |_l
3450 + 2200 - 2000 = 3650 |
Addition always gives a smaller number than subtraction |

1000 + 500 — 250 = 1250 |
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Subtraction is used to find the total number |

E. Miscellaneous Questions

1. A library had 8000 books. 3000 were issued and 1500 were added. How many
books are now there?

2. A man earned 9000, spent 5000, and then earned X2000 more. What is his
current amount?

3. A box had 5000 pencils. 2500 were used, and 1000 were added. How many
pencils are left?

4. A car travelled 4000 km, came back 1500 km, and then travelled 1000 km
more. What is its current position from the start?




